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Questions page 11. cheek Q) 4,56 1,

7. For each of the examples below, describe how o
the bone shape or structure is well adapted for its

function in the body:

a) femur (thigh bone) long ond __wide ; Gives
streng th J0 _ Support
+he Ypody wegh¥’

b) bones of the hand many _small bones with bints

ollows the hand o bend -

c)ribs. cuyved, o f)rm‘ed" +h e Luvgs :

8. Vertebrae are described as small and irregular bones.

a) Explain what is meant by an ‘irregular’ bone.

Y\O{Q 5\{1 mmM etrca)l

b)Suggest why all vertebrae are small and the same
shape.

Thic allows verlebrae #o f}{: together
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' 5- Explain meant by a transplant.
' | OV~ PLFSG‘(\ ')'O

‘ ang+Hne
6~ Afemur, 0.35m in length, is found during a polics Invastigation. i L

Estimate the height of the victim. {[Remember the units}
Hzngﬂf (0:35 x2:6) + 65 =SR] <l

7- Estimste the arm span of the same victim. G q, 4/ <m

8- Suggest why the calculation is not always accurate in peopls

betw=en 12 and 18 years of ags.
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